CuO + H2SO4 → 
CaO + H2O → 
CaO + Mn2O7 → 
Na2O + CO2 → 
CuO + H2 → 

SO3 + H2O → 
CO2 + CaO → 
SO2 + NaOH → 

Ca(OH)2 + CO2 → 
CaCO3 + CO2 + H2O → 
SiO2 + Na2CO3 → 

P2O5 + HClO4 (безводн) → 
ZnO + HCl → 

ZnO + KOH + H2O → (в водном растворе)

ZnO + CaO →  (при сплавлении)

Cl2O + H2O →
NO2 + NaOH → 

Fe2O3 + CO → 
CaO + Al2O3  
ZnO + SiO2 → 
Al2O3 + NaOH + H2O → 

Аl2O3 + H2O [image: image1.png]



Al2O3 + H3PO4 (изб.) →
ZnO (изб.) + HCl →
Fe3O4 + HCl →
CrO3 + KOH → 
Cr2O3 + HCl → 
Cl2O + NaOH → 
Al2O3 + K2S2O7 → 
CuO + NH3 → (при нагревании)
Al + NaOH + H2O →
NaOH + Cl2 → (нагревание)

NaOH + СО2→
NaOH + ZnO + H2O→
H2SO4 + Ca(OH)2→
NaOH +  Zn(OH)2→
CuSО4 + NaOH→
NaOH + ZnSО4→
Ba(OH)2 + Na2CO3→
Cu(OH)2 →
Al + NaOH + H2O →(нагревание)

ZnO + NaOHр-р +H2O→
NaOH+S→
NaOH+P2O5→
NH4Cl+Ca(OH)2→
Ca(OH)2 + CO2→
Al2O3 + NaOH тв.→
NaOH  + ZnO → (нагревание)

NaOH+Cl2 → (на холоде)

ZnO + KOHтв.→
NH4OH +AlCl3→
NaOH + SiO2→
CuOH →( нагревание)

AgNO3+NaOHразб.→
NaOH +  Zn(OH)2 → (нагревание)

KOH+Si+H2O→
H2SO4конц.+NaOH→
O3+KOH→
Fe(OH)2+NaOH→
MnO2+KOH+KNO3→
Zn + FeSO4 →

Zn + Pb(NO3)2 →

Mg + AgNO3 →

Cu + MgCl2​ →

Na2CO3 + H2O →
ZnCl2​ + H2O →
(NH4)2CO3 + H2O →
NaBr + Cl2 →

CaCl2 + Na2CO3→

CaCl2 + NaOH→

Zn + CuCl2→

AgF + NaCl →

CaCO3 →нагревание
CuBr2 + NaOH →

KHCO​3+KOH →
AgNO3+KI →
FeS+HCl →
MgCO3+ H2SO4 →
AgF+HNO3 →
Na2HPO4+NaOH →
Na2SiO3+HCl →
FeSO4+KOH →
NaHCO3+HBr →
Pb(NO3)2+Na2S →

Ca(HCO3)2 → нагревание
Al + NaCl →

Al + PbCl2 →

Al + H2SO4 →

ZnS + O2 →

Ba(NO3)2 + Na2SO4 →
HNO3 + NaOH = 

HCl + KOH = 
H2SO4 +   КOH = 

H3PO4 +   NaOH = 
Cu + HNO3 (конц.) =

Cu + HNO3 (разб.) = 

K +  H2SO4(конц.) = 

 Zn + H2SO4(конц.) = 
H2SO4  +  Ca(OH)2 = 

HCl + CaO =

H2SiO3 [image: image2.wmf]¾
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НNO3 [image: image3.wmf]¾
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H2SO4 + Zn(OH)2 
H2SO4 + ZnO 
HCl + Fe 
HCl + Na2CO3 
СaCl2 + H2SO4
HCl + Na2S 
SO2 + H2O =

Ba(NO3)2 + H2SO4 = 

AgNO3 +HCl =

HN03 + Н202 =

H2SO4 =

BaCl2 + H2SO4(конц.) =

Na2SO3 + H2SO4(разб.) + K2Cr2O7 =

H2SO3 + O2 =

HCl + Al2O3 =

 H2SO4 + Ca =

Na2SiO3 + H2SO4 = 
AgNO3 + HCl = 
P+HNO3+H2O=
H2SO4+Ca=







